	1.
	Five volts is applied to two 2 ohm resistors in series. The resulting current is
Your Answer:

1.25 A.



	



	2.
	
	Five volts is applied to two 2 ohm resistors connected in parallel. The resulting current is
Your Answer:

5 A.


	



	3.
	
	Six volts is applied to a 2 ohm resistor in series with two 2 ohm resistors connected in parallel. The current through the first resistor is
Your Answer:

2 A.



	



	4.
	
	[image: image1.png]100 200

109 200





What is the equivalent resistance to the three resistors on the left in the above figure?
Correct Answer:

4 ohms



	 
	


	


	5.
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What is the current drawn from the battery in the circuit?
Your Answer:

2/3 A


	


	6.
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What is the current through the 20 ohm resistor on the left in the figure?
Your Answer:

2/15 A


	


	7.
	
	What is the voltage drop across the three resistors on the left in the circuit in the above question?
Your Answer:

2 2/3 V


	

	8.
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What is the voltage drop across the 20 ohm resistor in the circuit?
Correct Answer:

6 V


	 
	

	


	9.
	
	In the above question what is the current through the upper 10 ohm resistor?
Your Answer:

0.6 A


	


	10.
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What is the current through the 20 ohm resistor above?
Correct Answer:

0.3 A


	 
	

	

	11.
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What equation correctly depicts Kirchhoff's first rule as applied to the above circuit?
Correct Answer:

I1 + I2 + I3 = 0


	 
	

	


	12.
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What is the equivalent capacitance of the two capacitors in series in the figure?
Correct Answer:

10 microF



	 


	

	13.
	
	What is the charge on the 30 microF capacitor in the circuit in Question 17?
Your Answer:

.00054 C


	


	14.
	
	What is the voltage across C2 in Question #13?
Correct Answer:

9 V


	 
	

	


	15.
	
	You have three capacitors C1= 15 pF, C2= 35 pF and C3= 50 pF. How can you arrange them to get an equivalent capacitance of 25 pF?



